10 by 4 Tenner Grid Puzzles

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

2 4 0
2 8 4
511 4 316
8 |11 |17 151108 1522 |7 |22
3|2 8
6 1 719
2 910 |6
14 (10 12| 8 |11 |20 |15 |3 |21 |21

10017112112 9 201023 15| 7
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Answers

Use the digits 0 to 9 to fill the cells in the grid. The columns must add up to
the given sums at the bottom. You must use all the digits 0 to 9 in each row,
but digits may be repeated in columns. The digits in connecting cells (also
diagonally) must be different.

113(9512/6|4|8|0]7
2,718 1101351419
5117047289316
8 111715110 8 [15|22 |7 |22

3121675084
4 02813719
112473 [5]9/01]6 8
14110112 8 |11 |20(15|3 |21 |21
31,1067 2 |8 4
6|7 1101451923
1191452 36 0
1017121219 [2010(23 15| 7
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